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1. Students generally ..... their teachers.
a- Blame
b- Are blaming
c- Blamed
d- Both A&C

The Answer is A

generally 45 252 o present simple  JI Lweasial

2. Teachers nowadays ..... interactive boards.
a. Use
b. Are using
c. Used
d. Have used

The Answer is B

nowadays- s> s present continuousd) Leaiiul

3. I'm hungry. | ..... since nine in the morning.
a. Worked
b. Have worked
c. Am working

d. Have been working




2" E3 oUALI aulol

The answer is D

since nine in the 254 Present perfect continuousd) Lieasiul
morning

4. this room is full of smoke! It seems that your guests .....
a. Smoke
b. Have smoked
c. Are smoking
d. Had smoked

The answeris b

leall Y 5 bl e dxia ) AV 252 5 222) present perfectd! Leasiul
g obadl o 5is Lelad oY)

5. two years ago, my neighbor .....
a. Had got married
b. Got married
c. Has been married
d. Both B&C

The answer is b

two years ago =l dadll e 4y dVy 258 past simpled) L)

6. how long .... Here?
a. Did you live

b. Have you lived
c. Have you live
d. Both B&C

The answer is B

how long 25> s present perfect L_ss)
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7. Managers in big companies generally their employees.
A. Motivate

B. Are motivating

C. Motivated

D. Both A&C

The answer is A

8. Scientist nowadays a cure to cancer
A. Search for

B. Are searching for

C. Searched

D. Have searched

The answer is B

9. I'm bored. | since nine in the morning.
A. Studied

B. Have studied

C. Have been studying

D. Am studying

The answer is C

10.When we arrived home, the thief
A. Escape

B. Is escaping

C. Had escaped

D. Had been escaping

The answer is C

arrived (s¥) dlaall J2é 0¥ 540l ) AV 3 9a 5 a2l past perfect JI Leasial
alally
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11.TWo years ago, my cousin

A. Got engaged

B
C

. Had got engaged
. Has been engaged

D. Both B&C

The

answeris A

12) I’'m tired. | since the morning.

A

B
C.
D

. Working

. Have worked

Have been working
. Am working.

The answer is C

13) When we arrived to the wedding party, the bride

A. Leaves

B. Is leaving

C. Had left

D. Had been leaving

The answer is C

14) He was poor, but now he’s rich and he a lot of money .

A.

Is having

B. Has
C.
D

Has had
. Had

The answer is B

o
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15) Two years ago, my sister in-law
A. Got married

B. Had got married

C. Has been married

D. Both B&C

The answer is A

16) English this semester?
A. Do you study

B. Are you studying

C. Did you study

D. Are you studied.

The answer is B

ol arloil

el Lo Jeyoaaa gl o Y oY ¢ s al 5 oY b b sl

17) for the party so far ?
A. Did you prepared

B. Are you preparing

C. Have you prepared

D. Did you prepare.

The answer is C

18) | worked abroad

several years.

A. Since
B. For
C. From
D. In

The answer is B

so far Lual aa 5 oY ¢ U yial

several years 25> b U il
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19) She’s never attended the classes she got married .
A. Since

B. For

C. When

D. As

The answer is A

10

(alalls Ba0aa die ) Aol asa ) 5 has s Jdll oY g bal

20) 1 to music when | study.
A. Don't listen
B. Are listening
C. Listened
D. Both A&C
The answer is A

21) Teachers currently (use) technology.
A. Use

B. Are using

C. Have been working

D. Am working

The answer is B

22)1 used to practice Karate before several years.
A. Since
B. In
C. For
D. From
The answer is ¢

6)dll O EiSo - SUAIdYI ol §ugo ~
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23)Looks like you . Your hair is wet.
A. Took a shower
B. Have taken a shower
C. Are taking a shower
D. Had taken a shower
The answer is B

24)When we arrived to the airport, Steve already.
A. Arrives
B. Is arriving
C. Had arrived
D. Had been arriving
The answer is C

25)She’s never attended the classes she got her job.
A. For

B. Since
C. When
D. As
The answer is B

aduwl Olygall 0 Td)g LI aclgdll dliun ig.u::l__ 2 Ulhe ggsilasd g
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1- Today students spend three times ..... on internet ..... on
their study

a- Little/as

b- Less/as

c- Much more/than
d- As much/as

The answer is C

11 ool O @IS0 - SlnibUl polun G362~
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2- | got ..... marks than you did in the exam.
a- More
b- Less
c- As much

d- As many
e-Botha &b

The answer is E
than 25 cow @ U il

3- this laptop is cheap compared to other laptops which are
much .....

a- Expensive

b- Expensiver

c- More expensive

d- Both b&C

The answer is C

4- Today advertisers spend three times on internet
advisement they did in 2000.

A. Little / as

B. Less/ as

C. Much more / than
D. As much / as
The answer is C

12 6)dll O EiSo - SUAIdYI ol §ugo ~
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5- 1 got marks as you did in the exam.

A.

mOoO O w

More
Less
As much

. As many

Bothc & d
The answer is d
lic Yayas 35a 5 5 than 25 e as Leadiul
232 aul marksd! oY much o= Ya many Leasiul

#countable 1 0 588 (s 80) Gl (B S Ji a1 IS 1) e

o 0wz

6- My parents think that my husband is not that handsome, but to
me, he’s the man ever

Handsomer

Handsomest

Most Handsome

more handsome.

The answer is B

7- My parents think that my wife is not that beautiful, but to me, she’s the

girl ever!

13

o 0Ow>r

Prettier
Prettiest

More prettiest
Pretty.

The answer is B

6)ole)l O WiS0 - SNIdV polim G336 ~ 2~
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8- my new house is not big enough . It’s .....
a- Small
b- Too small

c- As small as
d- More smaller
The answer is A
oea ) e b (S La S Gl Gl = Aaall i oY @ b yia
B sias alb (sl
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1)

2)

J)

14

What does “CEQ” stand for?
A. Chief executive officer
B. College European organization
C. College electrical organizer
D. None
The answer is A
What does “cc” stand for ?
A. Cool care
B. Carbon copy
C. Certainly cited
D. None
The answer is B
What does “VAT” stand for?
A. Video Audio TV.
B. Vitamin A Tablets
C. Value-added tax
D. None.
The answer is C

o)ole)l () 84S0 - SUNIBYI olim G136 ~ o~
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4) What does “VTA” stand for?
A. Video Audio TV.
B. Vitamin A Tablets
C. Value-added tax
D. None.
The answer is D
5) They tell me that | look great in that dress! | really feel __ iniit.
A. Like a million dollars
B. Dummed out
C. Down in the dumps
D. Both B&C
The answer is A
6) If 1 bought an iPhone now in the crisis, it would
A. Pay through the nose
B. Break the bank.
C. Make my day
D. Have more money than sense
The answer is B

find the mistakes in the following sentences :
-1 | got(A) prompted(B). I’'m thrilling(C) to bits(D)

The answer is C (thrilled)

usJ) g dasuull Oljgaldi ._,o Jdjg |_.,.IJ| dijlioll dliwi gioa Uihe Jggsilasdg
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1. the following expressions are used to begin an email
EXCEPT FOR :

a- | write to inform you that

b- This is just to let you know that

c- Your name was given to me by

d- | look forward to hearing from you
the answer is D.

2. the following expressions are used to end a presentation
EXCEPT FOR :

a- As you can see from this picture

b- Thank you for listening so patiently

c- Well, that’s just about it

d- What we have looked at so far is
The answer is A

3. “please accept my sincere apologies for having to cancel our meeting”

this expression is:

Ending informal

Beginning formal

Ending formal

Beginning informal

The answer is B

SN ®>»
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| got(A)prompting(B). I'm thrilled(C) to bits(D)

The answer is B (promoted)

Vatican(A) is the smallest(B)than(C) city in the world(D)

The answer is C (the smallest city)

many advertisers(A) believe the traditional means(B) of advertising has become
fewer(C)effective(D)

the answer is [ (less)

the figure(A) of women in the workforce has(B) dropped of(C) 24.2% since (D)
1992

the answer is C (by)

| got (a) promoted (b) | am thrilling (c) to bits(d)

The answer is [ (thrilled)

| can't (A) afford (B) this house. | don't (C) have many (D) maoney.

The answer is D (much/enough)

The number of women in the workforce have (A)dropped(B)by (C) 24.2% since (D)
1992.

The answer is A (has)

Recently (A) , there has (B) been a steadily (C) decrease in unemployment (D).
The answer is O (steady)

Many advertisers (A) believe the traditional means (B) of advertising has become
less (L) effect (D).

The answer is D (effective)

. Please (A) to meet (B) you Mr. (C) Mark ! (D)

The answer is A (pleased)

My manger threatened (A) to fire (B) me because of my careless (C) . | have a
sinking (D) feeling .

The answer is [ (carelessness)




